 EQ \b(x+7)\s\up8(2)-2\b(x+7)\b(x-5)+\b(x-5)\s\up8(2) =

Воспользуемся формулой квадрата суммы.

Воспользуемся формулой квадрата разности.

= EQ  \b(x\s\up8(2)+14x+49)-2\b(x+7)\b(x-5)+\b(x\s\up8(2)-10x+25) =

Раскрываем скобки.

= EQ  \b(x\s\up8(2)+14x+49)-\b(2x+14)\b(x-5)+\b(x\s\up8(2)-10x+25) =

Раскрываем скобки.

= EQ  \b(x\s\up8(2)+14x+49)-\b(2x\s\up8(2)-10x+14x-70)+\b(x\s\up8(2)-10x+25) =

Приводим подобные члены.

= EQ  \b(x\s\up8(2)+14x+49)-\b(2x\s\up8(2)+4x-70)+\b(x\s\up8(2)-10x+25) =

Раскрываем скобки.

= EQ  x\s\up8(2)+14x+49-2x\s\up8(2)-4x+70+x\s\up8(2)-10x+25 =

Приводим подобные члены.

= EQ  144 
Ответ:  EQ 144 .

